ZA1E ABRGHMSBEHLEART-IAAL (BRESRE EER) (2016%F) |
Bk : —#& (2) -45% (1) -55& (1) & iBA 1008 (1) &to#

BF-—ig ZF-—i8

BEGH 1B 2016JIE 4L BEGH |8 2016JIE {5z
G 5 5 6[;th A -5 3 10
*® K -3 2 10[Z% K 2 6 3
X¥HEW 3 6 AEE A -8 4 7
O{ER T -11 2 14| g -5 3 11
B X B -7 2 13[& K BT -8 2 14
wHTTH 6 5 5[k B 16 6 2
EEH 6 6 JI/ETD 0 4 6
KEH -6 2 MIXETH -5 3 9
=k 5 4 IEeE#m -5 2 12
2dmh 6 6 NEXL K -1 3 8
EEG -7 2 IAEEIGS 5 4 5
WA T 6 7 1A ™ 14 9 1
E@®E T 3 4 8| & h 6 5 4
S OmM —6 3 olsF O h -6 2 13
2 B |BEiE-EEG@CETH) & B |sSAK-20@sTH)
E2EZH |ZK-RE(Edw) B B (kAT
= {1 | K#E-EHAMRETT) = 1 | LEH-EA/NCRKTH)
= {1 |[BFER-ABGHH) = i [B-FAEGEED)
BF-45m% KF 45k

BEGH 1B 2016JIE 4L BEGH |8 2016JIE L
FEIGE —6 1 14[ith B -1 2 6
* K 8 5 [EE T 1 4 2
XEM -4 1 10|X F 15 6 1
o IEBE T -1 2 7| m{EB T -6 1 14
B X B -5 1 12[8 X BT -5 1 13
wHETH 4 2 5k B -3 1 12
EEh -2 1 oiEFEh -1 1 7
KET -1 1 8 XE ™ 1 3 4
=B h 5 3 JAE M -1 1 3
EG -5 1 NIEEN -2 1 9
EEIGH 2 2 6|ER)ITH -2 1 10
wmATH —6 1 13[#%k A 3 2 5
E@EH 4 4 20| 3 3 3
SFO T 7 3 =FO T -2 1 11
#& B T8 -B&EKH) = B |LuOo-mEXEHH)
EEE |G -%E (Emt) EEE ML -EH SRR
= £ |Xdt-EGFOH) = {4 |BAB-RHEE™H)
= {1 |BR-EXxGEH) = fu |[AN-BARCKEH)
BF¥-55m% HF-55k

BEGH B2 2016J[B 15z BEGH |82 2016JIE L
AT -2 1 oy A vh -3 1 9
* K 6 4 2|1% K h 8 5 1
FEEEET -5 1 12[x% B h -4 1 11
B ThH -5 1 13| mIEBE T 2 2 6
E X B -5 1 14|85 & HT 0 0 14
=G -4 1 11|k B 6 4 2
EEH 1 2 6[IEFETT -4 1 12
KEM 0 2 IIXEH -1 2 8
=E8T -1 1 s[= Wi 1 2 4
2 b 4 2 HEEIGH 1 2 3
EENGE -1 2 AIEENT -5 1 13
wAET 4 3 3 A5 2 2 5
E@mTH 11 6 HER 0 2 7
SFAH -3 1 10[sf O -3 1 10
2 B | KR-FI(EEH) 2 B | KEE-Bd kK
BB | KE-ALEGRAKT) EER:  |FEth- /B (RETT)
= i | KRR-EHW®A™) = i |REAR-FEEDH)
= & [AF-HBEREIH) = i |BFE-CEHGHET)




ESER 20165 E KRABGEEE

BERGH 1B 2016][§ 1z BERGH |82 2016JIE L
AT -6 1 13t @B H -18 14 10
* K 4 3 RNEE X 26 29 2
ZXHH -5 1 12X B m -8 20 5
PO {EBE -4 1 11| &R TH -30 12 13
E X -2 2 8|8 & Hr -32 9 14
W HET 2 2 6[k B ™ 27 21 4
EZEwH -2 1 10 ETT -2 16 7
KEM 1 3 A XKE ™ -11 16 8
=R -2 2 iR 2 15 9
2gm 5 2 5|2 d 8 17 6
EEIGE -1 1 9|ERIITH -9 13 11
wAET 11 5 1A ™ 34 29 1
E@mT 5 3 200 | 32 27 3
SFATH -6 1 14[sr O -19 12 12
= B |AR-Bh @A & B —HFIERDEEITLL
BB |WE-NH(EmET) EBR KA
= i |EREE-EGRAKH) = i
= B | FHAR-AR(KER)




